2023 [EHEER—E (BIRITAS)
EmES o A IBffitg | #rift&
21-047 R7 T -FvvF 2yb 7,000 8,500
41-003 Do T=ZZAIVUT (F)1K 1,400 1,600
41-004 DO T=ZAIVT (BNA 1,400 1,600
21-201 £HRAEVEH 10m [EKD352] 6,900 8,000
22-003 AoT4T7H (FEHE) 1K 2,500 2,700
22-004 ATATH ARTHIR (FER) 1K 900 1,000
22-055 EIILTY FA2T—T 40mmig<PT4W> 2,500 2,700
22-070 AVTATHRERTSVT [4RH] 7,500 8,200
22-081 AT 4T H DX Fubk 9,000 9,500
22-410 A2 T47HhFvk GR 7,800 9,860
23-710 TYFRRTAVIT— L 2k 63,000 70,000
23-721 TYFRRTAvIF—LAI—+ 34,500 40,000
23-735 TIXRTAvI T —LRAF21— (1K) 7,800 8,000
23-741 TYVXRTAVIT—LRAT1RY (8##H] 21,000 25,000
28-402 TSV R-TLTRIEREIVSTE RV 35,000 43,000
28-412 G599 RO T7 F—LRANYIRIEBREIF—LEAISTI\VT 3,000 3,800
28-421-01 T3 R-J)L7 Ra—btwyb [BIEZEIRF—kybLYE) 70,000 80,000
28-421-02 Jo9UR-aL7 RE—btyb [BIEEIRZ— vy T IL—) 70,000 80,000
28-421-03 J5oUR-T)L7 RE—btyk [BIEZEIRS—tyNMATO—) 70,000 80,000
28-421-04 Jo9UR-aL7 RE—btyk [BIEEIRZ—ryNT)—) 70,000 80,000
28-422 T2URTNT DAy F IR —LR—ILRA MBI BLiE] 6,000 6,500
28-423 [(RIECE) T 5o RTIILT BYBZ AR—ILREUR3MER Y 700 750
28-424 [RIERE])T 50V RT I THR—ILIRA M2 X —L18)G1042S 7,500 8,000
28-500 [(BIECEIY 5OV -TIT7 RE—k2yb8ttyh [G086-8) 17,000 20,000
28-501 [BIECE]T SO RTILT RE—k<yb#[G086] 2,200 2,500
28-502 [(AIERE]T SOV RFTILTRE—FT 82y G086-8 17,000 20,000
28-503 [BIEEE]Y SO RTILITRA—byh R—ILIRRM/N\YY a2k 4,500 5,000
31-011 ARTHFRIER]IAKXTFT AT 5,500 6,000
31-019 ARTFFRIEREIARXTFTHEY)—1\vT 5,500 6,000
31-300 V) —REAVERIRIT ) —R A4 )L AEw %I 17,000 20,000
31-301 D) —RBA VR T2 —R 21 )VERIRITREFI—F 4,000 4,200
33-011 Ha—yry [RIEXE]D1=7HEAEY 266,000( 298,600
33-012 Ha—)oy RIREIASY—HEEAAEYE 405,800| 455,800
33-013 An—)>5 [BIEEIADY—HAB v 209,000 235,000
33-014 Ha—y>y [RIE XA CABE Y 200,400( 225,000
33-021 Ha—yog RAorJ—> [BlERE] 9,000 10,800
33-022 An—yrsg Ra7h—F [BlEE] 1,600 1,700
33-023 A=)y RL—FARTYUYT AYRA—)L [BlE2E] 3,500 3,900
33-024 AR—N)2T A—TR21—FRARTIT AFRA4—IL [BlEE] 3,700 4,100
33-028 Ha—yry Pyba—7—AHET—X [FlEE] 1,500 1,600
33-031 Aa—)>y Pxyba—7— [RIREIDzyba—7— [F] 34,800 38,800
33-031 Ha—yry PoybA—3— HIEXEIDoyvbO—5— [E] 34,800 38,800
33-031 Aa—)>y Pxyba—7— [RIREIPzyvba—7— [#F] 34,800 38,800
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33-031 AA—)>y Pxyba—7— [RlIREIDzyvba—7— [#F] 34,800 38,800
33-031 Ha—yry Poyba—3— HIEXEIDzyvbo—5— [£] 34,800 38,800
33-031 Aa—)>y Pxyba—7— [RlIREIDzyvba—7— [F] 34,800 38,800
33-110 aA=h—)L-yrRIEEIR 2 Z—F 389,000| 428,000
33-111 A=H—)L- A= B R[RIEEIRF A —F 40,000 44,000
33-112 A=H— )L RSARA—RYMAIEE]R A A —F 149,000( 164,000
33-113 A=H— )L h—RYbAN—[RIEREIRF T —F 19,800
33-300-01 ‘roa—iyFy A—7ykiR—IL(B)[BOC-W] 6,300 6,500
34-300 TybRyr—Phomh\vy[F] 2,100 2,500
34-331 =Ry RIEEIA) O FILAT4v I vh 21,000 23,000
34-332 A=y RIEEI TR Ty vk 30,000 32,500
34-351 =Ry RIEEIA) O FIVAT 49 I[FR] 1,600 1,700
34-352 ARy ZRIEEIA ) O FIVAT v I[E] 1,600 1,700
34-361 A=FRy[RlERE]TAR Ty Y[A] 2,300 2,500
34-362 A=RyY[RIEE] TR Ty I[E] 2,300 2,500
34-370 A =Ry ZRlEEIR—IL % —X)[H] 3,400 3,400
35-002-01 AR—YFr o N\FAlEE]—RAEER) 12,700 34,300
37-310 ATAvI) T2 yNBIEBREIR T 199 ) 0T 2Kz yh) 75,000 91,000
37-311 AT T Y bRIEEIR T4y 9) 0T (6K vh) 105,000 125,000
37-321 ATV T BRT199 [BIERE] 7,850 8,800
37-322 AT )T Ay Y [RIEE]ATa—3 1,350 2,000
37-322 AT499) T RNy y [BlELE]l M4 TO—2 1,350 2,000
37-322 RTav9) T Byy [RlEE]ATA—1 1,350 2,000
37-322 ATa99) 7 By y [RlEREILYES 1,350 2,000
37-322 RAT4vI T Ry [RIEEILYR2 1,350 2,000
37-322 ATV Bsvy [BIELEIL YR 1,350 2,000
37-323 RT4v9) 7 Aa—b [BlEEiE] 52,000 62,000
37-411-01 ILybT LIV —=R)=a—TFT 1o FILR—IL[11E] [BlEE]E 2,000 2,100
37-411-02 TLybT LIV —R)=a—TFT 1o FILR—)L[1E] [HIEX]EE 2,000 2,100
37-411-03 TLybT LIV =)= a—TFT 1o FILR—IL[1{E] [FlEEE]HF 2,000 2,100
37-411-04 Ly IULB ) —=R)=a—T 10T IVR—IL[1E] [BIEE]S 15 A 2,000 2,100
37-411-05 JLybT LIV —=R)=a—TFT 1o FILR—IL[1E] [RIEX]FRE 2,000 2,100
37-415-01 TLYRTIILILAU)—X) Ry bWR— L AN [BIERE]TR 3,000 3,100
37-415-02 <LybT LIV —X) ROy bWR—IL AL [BIERE ]k 3,000 3,100
37-415-03 TLybTILILAD)—X) R zybWR— LA N [BIERE]H 3,000 3,100
37-427-01 TLybT LI —R) MG-THRER T4 v [ ERE] 7 21,500 23,000
37-427-02 TLYRT LIV —R) MG-TIHRER T4y [ RIERE] 2 21,500 23,000
37-427-03 TLYrT LAY —R) MG-TIRER Ty [BlEX]E & 21,500 23,000
37-428-01 TLybT LA —R) MG-8HFERT v [l ERE] T 38,000 39,500
37-428-02 TLYbT LAY —R) MG-8HER Ty Y[ AIEEE]R 38,000 39,500
37-428-03 TLybI LIV —R) MG-8RERT v [RIERE]EE 38,000 39,500
37-429-01 TLybTIL LAY —X) MGH-7075T2E R Ty [ BIBLE]HF 66,000 68,000
37-429-02 TLybT LI —R) MGH-T075T2E R Ty [RIERE]IH T = 66,000 68,000
37-429-03 TLybT LAY —X) MGH-7075T2E R T4y [BIBELE]IF DD & 66,000 68,000
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37-500 B EAR— LB EZ5E] 149,800 155,000
37-501 BEER—ILERR T FIEEE) 5,000 6,000
38-500 773 — B BB [RIEEE] 35,000 42,000
39-100 AAYrR—IL[AIEEE]IR Ay bR—IL Y b 83,000 98,000
39-110 AAYrR—ILIRIEREIR Y R— LR AV E 52,000 62,000
39-112 ZAhyb R—ILBIEEIR DY R—ILR T 499 4,800 6,000
39-112 AAYhiR—IL 2[RI EE]IR AV R—ILRAT 1YY 4,800 6,000
39-113 AAYrR—ILIBIEEE]IR Y R—IL <y 13,000 15,000
39-113 AAykiR—IL 2[BIEE]IR AV R—ILT Yk 13,000 15,000
39-130 ZAHyrR—IL[BIEEE] R By bR — )L UK S 6,000 8,000
39-130 ZABybiR—IL 2[BIEEE]IR By kAR — )L FBURER/ Sv o 6,000 8,000
39-150 ABybR—IL 2[BIEEE]IR AV RR—)L 2 96,000 118,000
39-151 AAybiR—)L 2[RIEEIR AV R—IL 2 RAVEE 58,000 72,000
39-155 AAybiR—IL 2[RIEEIR DV R—IILAEBEIST 11,000 15,000
39-200 ARZAOR—1) T RIERE] 87,000( 103,000
39-200-01 ARSAOR—) 5 R EEEIEk 1A 9,600 11,000
39-500 A—/NLR—)L [RIEEI4 A |ty b 95,000 130,000
39-510 A—)LR—)L [BlEE12 A |ty 62,000 85,000
39-600 R R0 )T Eyk 62,000 73,000
40-500 /N3 —[121517-S81] 35,000 42,000
40-500-01 Nyd— E—= v 4@y FRE4EH 3,600 4,800
40-500-02 Nyd— E—o v [4E+EyR) S B4EH 3,600 4,800
40-500-11 Nyd— E—on\wH 1E- AR 900 1,200
40-500-12 Nyd— E—o S 1E-EtAR)E 900 1,200
43-011 SblE~BKEVY 2,300 2,800
43-012 AblE~dK/TA— 2,300 2,800
43-013 SblE~BINEVY 1,200 1,600
43-014 AblE~Z/h(TO— 1,200 1,600
43-811 NILIL—HKAR—)L28 2,500 2,600
43-911 FUR—ILAR—Y[BIERE]A o F—HR—IU(FTVIR) 7,500 9,000
43-921 FUR—ILRR—Y[BIEX]IEE IO 13,800 16,500
43-991 RUATUDX (ERAN) 1,600 1,900
45-410 I7HR—ILF—Ltyr[B3517]T 7 R—ILT — Ltk 24,200 26,000
49-600 SE—FyEa—T )Ltk 21,000 25,000
49-610 SH—HyB—Nn—TJHyk 8,400 9,000
49-623 =4y —Ea ERAR—ILIEHRE 1,500 1,700
49-624 SF—Fya—Eb i ERAR—ILIMERE 1,500 1,700
49-633 SE—FR—RAXY )T\ 2021847 2,100 5,000
51-010 Sy 4an0k(27cm] 4,200 4,800
51-020 SxuRY a0/ [18cm) 1,700 1,900
51-311 BEATAE 1,980 2,200
51-631 FERAH—7[B3516] 1,070 1,200
51-632 FERH—T(K)[B2306] 1,590 1,760
51-810 Y- 1 [AIEDE] 27,000 32,000
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51-820 #Y-Z 2 [HIEDE] 27,000 32,000
51-825 Y- 5 [AIESE] 27,000 32,000
51-840 #Y-Z 6 [HIEDE] 27,000 32,000
51-850 =L [BIECE] 34,000 40,000




